Percentiles of Student's t distribution one tail 0.100 0.050 0.025 0.010 0.005
two tails 0.200 0.100 0.050 0.020 0.010
df a1 1.31 1.70 2.04 2.45 2.74
32 1.31 1.69 2.04 2.45 2.74
one tail | 0.100  0.050  0.025  0.010  0.00% 33 1.31 1.69 2.03 2.44 273
two tails | 0.200  0.100  0.050  0.020  0.010 34 1.31 1.69 203 9 A4 979
df 1 3.08 6.31 12.71 31.82 63.66 35 1.31 1.69 203 2 44 279
2 189 292 430 696 0.92 36 T.31 7.69 2.03 2.43 2.7
3 led 235 318 454 584 37| 1.30 1.69 203 243 2792

4 1.53 2.13 2.78 3.75 4.60
. 148 5 o 5T 3 ag 403 38 1.30 1.69 2.02 2.43 2.71
3 T1d 101 oW 511 77 39 1.30 1.68 2.02 2.43 2.71
ol 141 180 9226 300 350 40| 130 1.68 202 242 270
& 1.40 1.86 2.31 2.90 3.36 41 1.30 1.68 2.02 2.42 2.70
9 1.88 1.83 2.26 2.82 3.25 49 1.30 1.68 2.02 2.42 2.70
10 1.37 1.81 2.23 2.76 3.17 43 1.30 1.68 2.02 2.42 2.770
11 1.36 1.80 2.20 2.72 3.11 44 1.30 1.68 2.02 2.41 2.69
12 1.36 1.78 2.18 2.68 3.05 45 1.30 1.68 2.01 2.41 2.69
13 1.35 1.77 2.16 2.65 3.01 46 1.30 1.68 2.01 2.41 2.69
14 1.35 1.76 2.14 2.62 2.98 47 1.30 1.68 201 241 268
15 1.34 1.75 2.13 2.60 2.95 48 1.30 1.68 2.01 241 92 68
16 1.34 1.75 2.12 2.58 2.92 49 1.30 1.68 2.01 2.40 9.68
g }gg }%1 %% ggg %gg 50| 1.30  1.68  2.01 2.40  2.68
19| 133 173 209 254 286 60 130 16T 200 239 286
20| 1.33 172 209 253 285 0 129 167 199 238 2.65
80 1.29 1.66 1.99 2.37 2.64
2| 13 1w 200 2m  a8 00| 120 166 199 237 263
93 1.99 171 207 9 50 981 100 1.29 1.66 1.98 2.36 2.63
94 1.32 1.71 2.06 2.49 2.80 150 1.29 1.66 1.98 2.35 2.61
25 1.32 1.71 2.06 2.49 2.79 200 1.29 1.65 1.97 2.35 2.60
26 1.31 1.71 2.06 2.48 2.78 300 1.28 1.65 1.97 2.34 2.59
27 1.31 1.70 2.05 2.47 277 400 1.28 1.65 1.97 2.34 2.59
28 12% Hg 3-85 g-ig g-gg 500 1.28 1.65 1.96 2.33 2.59

20 : : .05 . .

30 1.31 1.70 2.04 2.46 2.75 o0 | 1.28 1.65 1.96 2.33 2.58




